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This Booklet containg 32 pages, including Rough Page.
Do not open this Test Booklet until you are asked to do so.

L When you are divected to open the Test Booklet, ke out the

irs on QRIGINAL Copy carelully with blue/black ball point pen only.

duration and the Test Booklel contains 200 miiltiple-choice questions -
answer) from Physics, Chemistey and Biology { Botany and Zoology), £
divided into two Sections (A and B) as per details given below:

9966.Lc9

- {a) iiwiinr!: A shall consig af As (Thirty-five) Questions in each subject (Ouestion Nos - | 10 35, I
o 5| to 85, 101 1o 135 and 151 to 185). All questions are compulsory. !
‘<% (b) Section B shall consist of 15 (Fifveen) questions in each stbject (Cuestion Nos — 36 to 50, 86 to 100, i

136 10 150 and 186 to 200), In Section B, a candidate needs to attempt any 10 (Ten) questions out of
15 (Fifteen) in each subject :
Candidates are advised to vead all 15 questions in each subject of Section B before they start attempting
the question paper. In the event of 8 candidate attempting more than ten questions, the first ten questions
answered by the candidate shall be evaluated,
Each question carries 4 marks, For each correct response, the candidate will get 4 marks. For each incorrect b
respanse, ane mark will be deducted from the total scores. The maximum marks are 720, '
Use Blue/Black Ball Point Pen only for writing particulars .on this page/marking responses on '
Answer Shecet. i ¥
Rough wark is to be done in the space provided for this purpose in the Test Booklet only. e
On completion of the test, the candidate must hand over the Answer Sheet (ORIGINAL and

OFFICE Capy) to the Invigilator before leaving the Room/Hall. The candidates are allowed to take away
this Test Booklet with them.

7. The CODE [or this Booklet is H4 Make sure that the CODE printed on the Original Copy of the

Answer Sheet is the same as that on this Test Booklet, [n case of discrepancy, the candidate should

immediately report the matter to the Invigilator for replacement of both the Test Booklet and the

Answer Sheat, :
8. The candidates should ensure thar the Answer Sheet is not folded. Do not make any stray marks on the

Answer Sheet. Do not write your Roll No, anywhere else except in the specified space in the Test Booklet/

Answer SheeL. ’ I .
9. Use of white Auid for correction is NOT permissible on the Answer Sheet. y
10. Each candidate must show on-demand hisher Admit Card to the Invigilator, -
11, No candidate, without special permission of the centre Superintendent or Invigilator, would leave hisher seat. ;
12. The candidates should not leave the Examination Hall without handing over their Answer Sheet to the Invigilator

on duty and sign (with time) the Attendance Sheet twice. Cases, where a candidate has not signed the

Attendance Sheet second time, will be deemed not to have handed over the Answer Sheet and dealt '+

with as an Unfair Means case.
13. Use of Electronic/Manual Caleulutor is prohibited, i

-
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14. The candidates are governed by all Rules and Regulations of the examination with regard 1o their conduct in i
the Examination Room/Hall. All cases of unfair means will be dealt with as per the Rules and Regulations of
this examinarion. ,
15. No part of the Test Booklet and Answer Sheet shall be detached under any circumstances, ;
16. The candidates will write the Correct Test Booklet Code us given in the Test Booklet/Answer Sheet in the !
Anendance Sheet. ;

17. Compensatory time of one hour five minutes will be provided for the examination of three hours and
20 minutes duration, whether such candidate (having a physical limitation to write) uses the facility of
Scribe or not.
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1ol 0049 T, a magnetic

l__ll-'r"l-itl Nﬂllnﬂﬂ" (

l e ﬂ::‘ﬂﬁm:':_‘:-anjfl:”ﬂ s el mmllutinnsﬂ;n 4
bt i finertin of the
The moment al 1
: ::‘:‘IF:;S Elshm:I“ 6 kg m?. If the magmlude r;r
(iTe is * gy
magnetic moment o
then the value of g

fthe needle isx ®

2
(1) 1285 (2) sax

(3) 12807 @) 5%
X 5 The moment of inertia of a thin rod about an axis
' statements A and B and : a thin rod ol
i ¢ Fﬂnsjﬂﬂﬁilﬂl. fuilum:fwﬁ m passing through its mid point and perpendicnlar
il (e SOt R ' to the rod is 2400 g cm?. The length of the 400 g
i I~ rod is nearly :
AL :
rﬁﬂ.l wlo., (1) 17.5em (2) 20.7em
el am (av (3) 720cm (4) B5eom
e g : [ The maximum elongation of a steel wire of 1 m
A.  Fora solarcell, the I-V characteristics lies length if the elastic limit of steel and its Young's
i i in the TV quadrint of the given graph. modilus, respectively, are 8% 108 N m2 and
2 B. In areverse biased pr junction diode, the 2x 10V Nm2,is:
Al " I current meastred in (zA) , is due to majority (1) 0.4 mm (Z) 40 mm
© charge carriers, (3) 8mm (4) 4mm
! (1) A isincorrect but B is correct.
I3 -t =
R Btie (2) Both Aand B are correct. 7 e, ey Bl gpre 0
sﬁ:" i (3} Both Aand B are incorrect. In the nuclear emiszsion stated above, the moss
b {4) A is correct but B is incorrect. number and atomic number of the product O
i respectively, are
fet + s aee(ly 286,80 (2) 288,82
, ‘(3) 286,81 (4) 280,81
Tillis .8 [Fx= 58"]{!."-}- JHI represents the motion ofa i i e LB
M M 8 A thin flat circular dise of radius 4.5 om is placed
T 1 puhnleIMmg simple harmonic motion, the _ gently over the surface of water. If surface tension
i _m‘q'it and time period ﬂfm{m'mm""i]?s T'OF water is 0.07 Nm—l, L, then the excess force
TR i required to tuke it away from the surface is :
. | (1) 5m,2s (2) Sem, s (1) 198N (2) 1.98mN
) (3) Sm.1s @) Sem,2s iﬂnﬁﬂ,ﬂ, § (4) 19.8 mN-
Al M—En’ﬂ,’h I [ Contd...
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[f'r.'l Jl.nﬂer' "r" '--

The graph which shows the variation of [::':‘)

ond its kinetic energy, £ is (where 3 isde Broglie

wavelength of a free particle) :

P

i
(3) 32 (4) ;‘f

T 1

o o
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A wire af length 1" gng Fesistance 100 ix
givided into 10 equal parts. The firsy 5 pars sre
connected in SOTiCR “-|1I|L the rext
mﬂl‘tﬁlﬂi in parallel, T
agnin connected in series
final wombination is:

3 parts are
BWo gombinations are
The resistunee of this

20 (3L 550

(49 2602
(i)

(1

(B 600
At iy instant of time £, the displacement ol pny
pm"l:h:flt is given by 2r— | (SI unit) undet the
influence of force 8F SN, The value of
insEAntaneons power is (i 51 unit):

(135 & 7

(3) & {fl

The output (1) of the gmn lopic gate 5 similar
1o the output of anfa ;

A
¥
4)
&
(1) NOR gnte (2} OR gate
{3) AND gatc (g NAND gite
Lta]

A tightly wound 100 turns coil of radivs
10 em earries o current of 7 A, The magnitude of
the magnetic field atth tre of the coil is (Take

permeability of free spacBas dx=<1077 Slunits);
13 44T 44 mT
(G) 44T (g 44mT

\D

Anunpolarised light beam strikes a glass surface

at Brewster’s ungle. Then

(1) the refracted h$ will be completely
polarised. W
bﬂthtl'mmﬂﬂu‘lcd
completely polurisgd.

the reflected 13 will be completely
polorised

arised but the refracted light will be
partially pﬂhﬂsa{g ‘
(4} the reflected light wi | be partially polarised.

@ refiacted light will be

3)

14

15

16

Mol List | with List 10,

List List 11
(Specteal Lines of { Wiavelengths (nmj}
Hydrogen for
transitions from) \0
Ao my=3dtom=1lgep I 4102

=dtom=2" 1. 4341
Ty!
C. m=5twom=20 Il 6563

My =610y =2 1V, d486.1

Choose the ijﬁg:@gw:'r‘ from the options EIvEn
below :
{13
2y
(3)
(<)

L
ALl B-1V. l{%, -1

ALY, B-111, Gl D-I1
AL, B-A1, CoL, D-IV
A-IL, B, C-Yy D-111

\D

Two hodies A and B of same mass undergo
completely inelastic one dimensionul collision.

The hondy A moveswith veloeity v, while body B
is ot rest before efllision. The velogity of the
system after cmlliﬁw 1595, The ratio v © ¥a 51
(1) 21 =2y 4:1
3y 14 Um A4 12
Match List-I wiﬂhlgu-l'l.
List-1 W List-T1
(Materinl}) (Susceptibility ( 1))
. on
A. Dimmagnetic p, I %=0
B. Fmﬂhg o Elﬁ-x:a—!
. Paramagnetic |1 P |
1. Non-mognetic Iv. O<yx =e (nsmall
O positive numbier)

Choose the corred@answer from the options given
Lo 8)

(1) AL B-L cik D1y
) A, B, €1 DAy
@) AV.BULEALDYI
(4) AL BN CAIY, B I

. | Contd...
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Fohe 18

19

20

21

t L&)
A thermodynamie system 18 taken llm";"tﬂl‘ 1:1:
cvele abeda. The work done by the gas along

path b is |
r

100 em’

—>
(2) 00 .J

(4) et

(nH 304
(3) -60J

The quantities which have the same dimensions
as those of solid angle are :

(1) stress and angle

(2} strain and are

(3) angular speed and stress

{4) strain and angle

The mass of a planet is -llﬂ-“" that of the carth and

its diameter is half that of the earth, The
acceleration due to gravity on that planet s

(1) 9.8ms? (2) 49ms?

(3) 392ms? (4) 19.6ms

In @ vernier calipers, (N + 1) divisions of vern ier
scale coincide with N divisions of main scale. If
1 MSD represents 0.1 mm, the vemier constant
(in cm) s :

] F
(1) W (2) 100N

) ‘——

3) 10 1
(3) 10|N+1) ==

A logic cireuit provides the output I as per the
following truth tuble ;
A

- o — Ol
— o —|

)
the output ¥is :

2 7
(4) AB+4

0
1

1

1
The expression for
(1) AB+4

(3) B

R4_English |

12

24

25

Giiven below are two statements: one js jay,

ns Assertion A and the other is labe

Reason 1.

Assertion A : The potential () at any axja po; .

at 2 m distance(r) from the centre of the dir.u-.]l
T

n“l.:d
e s

=
of dipole moment vector P of Magnityg,

4% 100Cm,is +ox10° 1.

| 9
(Take o= 10" Slunits)
=

/O
dmey r

Reason R @ 3. where » is {he

distance of any axial point, gituated at 2 m fropy

the centre of the dipole.

in the light of the above statements. choose the

correct answer from the options given below:

(1), Both A and R are truc and B is NOT the
correct explanation of A.

(2) Aistrue butR is false,

(3 A is false but R is true.

(#) Both A and R are true and R is the comrect
explanation of A.

In an ideal transformer, the tumns ratio is _:;__c_ = TE‘

The ratio 7, : ¥, is equal to (the symbols carry

their usual meaning) :

(1) 2:1 @ 1:1

(3) 1:4 (4) 1:2

If the monochromatic source in Young’s double

slit experiment is replaced by white i ght, then

(1) there will be a central dark fringe surrounded
by a few coloured fringes.

(2) there will be a central bright white fringe
surrounded by a few coloured fringes.

(3) all bright fringes will be of equal width.

(4) interference pattern will disappear.

A bob is whirled in a horizontal plane by meats
of & string with an initial speed of @ rpm. T
tension in the string is 7. If speed becomes 20
while keeping the same radius. the tension i the
string becomes |

{1) 47 (2) %

(@) 27 “@ T

|'||:'III|I|!|,.
I '_"|'||I.I.I." I
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nnl’im“t.ﬂl ’hm.t. 10 N is applied 10a block 4 ns
it in figure. The mass :_H'hlucks Aangd B oare
1 kg and 3 kg, respectively, The blocks slide over
;ﬁiﬂliﬂmcgﬁ g‘.-urﬁn:u, The Torce exerted by block
4 on block Biis h

~ -“1, Iﬁ'_' .H
Lt ] B
FEEITITITRY i i T
(n 4N (2) 6N
(3 10N (4) zero

The terminal voltage of the battery, whose emf'is
101 and internal resistance 1 G, when connected
through an e:ftemn! resistance of 40 as shown
i the figure 15 :

St
_______ W
= R
e
O e
(1) 6F (2) ¥
@3y 10W 4y 4p

Inthe following circuit, the equivalent capacitance
berween termminal 4 and terminal 8 is -

2pF
1t il

Ao— =2 uF b ff
i} i
2pF 2uF

(1) IpF (2} 0.5uF

@) 4pF (4) 2pF

Given below are two statements

Statement I : Atoms are electrically neutral as
they contain equal number of positive and
negative charges.

Statement 11 ; Atoms of each element are stable
and emit their characteristic spectrum.

In the light of the above statements, ehmsg the
must appropriate answer from the options given

(1) Both Statement T and Statement Il are
incorrect, ,
(2) Statement 1 is correct but Statement Il is
{3) Statement I is incorrect but Staiement 11 is
{#) Both Statement I and Statement Il are

i
i

5

I
it

M

31

32

=

I

Solenodd - 1
In the above diagram, a strong bar magnet is
mioving towards solenoid-2 from solenaid-1. The
direction of induced current in solenoid- 1 and that
in solenoid-2. respectively, are through the
directions:

(1) Bdand €D
(3) BAand DC

-,

Solenoid - 2

(2) AEand CD
{4y ABand DC

If ¢ is the velocity of light in free space, the commect
statements about photon among the following
nre !

A. Theenergy of a photonis E=hv.

B. The velocity uf a photon is 2.

|
€. The momentum of a photon, p—= 2.
&

D. In a photon-electron collision, both teial
energy and total momentum are conserved.

E. Photon possesses positive charge,

Chiose the correct answer from the options given

below

(1) A.B.Cand D only

(2) A, Cand Donly

(3 A B Dand E only

(4 Aand Bonly

A wheel of & bulloek eart is rolling on a level
rond as shown in the figure below. If its linear
speed is v in the dircction shown, which one of
the tollowing options is correct (7 and CFare any
highest and lowest points on the wheel,
respectively)?

Q

(1) Point P moves faster than point (.,
(2) Both the points P and O move with equal

speed.
(3) Paint P has zero speed.
(4) Point F moves slower than point (.

| Contd..,
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gight angled prism at
idence 30° as shown
the prism parallel to
o5 along the face AC. The

A light riy enters throu gh: a
point I with the angle af ine
in figure. It travels through
its base AC and eimg
refractive index of t

prism is:

o

5 0, B

WS o™
o

Pl

(3) ﬁ nN®
: 0

A particle moving with uniform speed in acircular
path majniains : ©
(1) consiant accelgrption.

bt ing seceleration.
{2) constant valn@u ul varying

(3) varying vel gnd varving neceleration.

{#) constant velowity.

W
A thin spherical shellis charged by some source.
The potential differehce between the two points
Cand P (in l’}shn’?’E in the figure is:

1 @ 5
ke =0x Sl units
81 amey )

i A0
i i
o

s o .
i I

; L :;

(1) =108 o @ 0.5 =« 107

(3) zero (1) 3 =109

R4 English |
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Physics : Section-B (Q. No. 36 to 50) |

6

37

33

39

A parallel plate capacitor is charged by connecting

it to a battery through a resistor. If T is the current

in the circuit, then in l.|-||;;¥up between the plates :
T

(1} displacement curtght of magnitude equal 1o
I'flows in the samedirection as |,

i2) displacement curtent of magnitude egual to
I flows in a direction opposite to that of 1.

a . )
(3) displacement currgnt of magnitude greater

than | flows but can be in any direction

(4) there is no current.

o

L
A metallic bar Young's modulus,
0.6 x 101" N m~* and cgefficient of linear thermal
expansion 10 °C-'“fength | m and area of
cross-section 102 m? §heated from 0°C to 100°C
without expansion or bending. The compressive
force developed in it isy
(1) 50x10°N (2) 100 = 10°N
(3) 2%10°N (4) S=10°N

o

(V]
The property which igfiot of an electromagnetic
wave travelling in fre€Space is that :

(1) the energy densig-;n electric field is cqual
to energy density jn magnetic field.

1
{2) they ravel wnmgl:zpeed equal 10 d' o e "
(3) they criginate 'Fﬂﬂ;'Fﬂ charges moving with

uniform speed. ﬁ_
(4) they arc transversejin nature,

()

The minimum energy required to launch a satellite
of mass m from the surface of earth of mass M
and radius R in a cireblar orbit at an altitude of

2R from the surface dfihe earth is:

' o\

2GmM Gmdd
(1 “o

IR = 2R
U

CimM S GmA

s B ==
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o hearers A and B have powey ruting of | kw
T 2kW. respectively. Those two are first
i o i 5 q_t:‘:cs nEnd then in parallel 1o o fixed

p source. The ratio of POWET outputs for thisse
o €455 15°

Twd

in 2:9 2y 12
i 2:3 4y 1:1

Al0pF capacitor is connected o 2 210 V.50 H
coMrCE &S shown in figure. The peak eyrrent 1;

Ihecirﬂllh isnearly [(k=3. 14}

HE

210 F, 50 H=

(1) 0834
(3) 0354

@) 1204
(4) 0584

if the mass of the bob in a simpl dul
to thrice its original m&:ﬂp:lcdnt;]ummg;;
is made half its original Imgt]-.. then the new time

perind of vscillation is E times its original time
period. Then the value of x is:

) +2 @ 243

{3) 4 “4) 3

A sheet is placed on a horizontal surface in front
of g strong magnetic pole. A force is needed to

A, hold the sheet thete if it is magnetic.

B, hold the sheet there if it is noh-magnetic.
C. move the sheet away from the pale with
uniform velocity i it is conducting.

move the sheet away fram the pole with
uniform velocity ifitis both. non-conducting
and non-polar.

Choose the correet statement(s) from the optivng

“given helow:

(1) AandConly
() A,Cand Donly
3 Conly

(4] Band Donly

R4 English |
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Choose the correet gireult which can achleve the
bridge balance.

If the plates of n parallel plate capacitor conmected
to i battery arc moyed close to each other, then

A, ihe charge stored in it, increases,
B, the energy stored in it decreases.
C. = capicitnnes iNCreases,

D. the ratio of charge to its potential remains
the same,

E. the product of charge and voltage increases.

Choose the most appropriate answer from the
aptions given below:

(1} A,CandE only
(2) B, Dand E only
(3) A.BandConly
(4} A, Band E only

A iron bar of lengih L Has magnetic moment M.
It is bent at the middle of its length such that the
o arms minke an angle 607 with cach other, The

magnetic moment of this new magnet is:

O @ 2M
M
® 5 @ M
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[ Chemistry : Section-A (Q. No. 51 o 85) |

! : G = A Lay
y - time (1) plot of {lye motion ol a | 51 Spin only” magnelic moment 15 Sama for which 4 %

o I-Ill;\-‘:.;h:lﬂi::lhe1q1w ] of the following ions? ke
| ?: A :: A, .['i]' B“-_‘ C'J-I-
‘!. ] Q. W [H':' Fe2t
i i A
A Tk & best suits E. 8ct T,
ﬁlmmellum_linnun-—t':uw!.l_’lﬁﬂJ-PIntlwl T BRI . R -—
this mvotion b4 - ,{ ] ap:mi.;m,- otk o5 ﬂ
E E {1y A and E only Ve 4
T (2} ¥ (2) D and C only ol
i T T o
(3) AandDenly (p
(4} Baond Donly LT} B
h
£h
&) 52 Match List | with List - |
List 1 L List 1T
'|.L']
(Conversion) (Number of

48 Asiiallteleseope hasun objective of focal length -
{40 em and an eye plece ol{agcﬂ length 5.00cm. Faraday required)

The magnifying power of telesoops for viewing : Te]
udli:stu.nfzbjyitgis: T A, Tmolof H010 05 (o . 3F
) 28 (2) Iﬁ B. 1 molof Mnl}: th I'E"I- . 2F 25
i e 4 o
g graph represtnts the T-Y curves of i r~
49 The following graph repre e T-V curves o \n
an ideal gns (where T s the temperature and 2, 1,5 mol of Ca from \D {1 S

ihe volume) at three pressures P, Py and P’y molten CaCl,
compared with those nr[."lln{lgﬁ's law ropresanted
L . 1 mol orm:rmfez% IV. 5F

a5 dorted lines. I
Choose the correct answen from the options given

I-'JII e " & .
,,;r,‘/a‘/ ‘ & e o
i r~ (1) AL, BV, C-L, l:l;ﬂ'

[ Ty
Then tho eonect relation i%3 @) A-ll, BAIL, C-1, Dy
() RA>f>m (2 B=R>H (31 A-llI, BV, C-I1, D4 .
Gy A=AzR @) E>fHod (4) A, B-IV, C-1 DT 6
il
S0 Aforcedefinedby F = “*15.?’ actson hparticle | 83 Fehling's solution ‘A’ %
© at o given time £ The'fuctor which is :
: j _ = (1) alkaline copper sulphate
L e ﬂfl" Ve {2) alkaline solutiofr of sodium potassium
(1 :% @) @Hr tartrate {Rochellels sal)
- ap B (3) agqueous sodinm q@nte {
@y 282 @ B (4) agqueons copper sulphate '
R4_English | 8 | Contd...
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st which

pom the

quired)

ns given

tassium

g § |
LS
" Mnlﬂhl-l‘“ L with List 10,
List |{ﬂm|m“} List 11 (Henpenis/
Condition)
- i)
n OO %0 1w
o
,-1-: Adiyd, AIC1,

: i . Cr0,
oH éj,u :
e T KMRO,/
W KOH, A
0. & ',:-,f"ﬁ V. (i) Oy
COOKs,

@l =~ ﬁi} In=-H,O
Choose the correct answer from S
Below: e the options piven
(1) A +B-1.L8-ll. D1V
(2) A-IV. B-L CI, D-mil

(3) A-LBJV, C-I1, D11
(4) AV, B-LGIIL, D-1i

Which one of following alechols reacts

inmmnmusiydv{im Lucas reagent?
(1) CH,-CHj~CH-OH
WUCH,
2y CHy- CHKE:EH_IDH
Hy

CH

| 0
(3) CHy-C -on

CH

o
(4) CH;—CHI=CH,~CH 01
i
Intramolecular Hydrogen bonding is present in

0 Hﬂ,@IHﬂ]

J\'IIII'I".. il
I . i i fiHili
| {1 lI | !
-.J IMITHL 'IIII
Ik .l"li..I ; i
d f'lllll i I
-t s TN LA
57 Mk List b with List L
Laist 1 List 1N
(Componnd) i Shupe/geometry)
A MNHy I.  Trigonal Pyramidal
B. BrF, 1. Squore Planar
C. XeF, 1, Oetahedral
D Sk, IV, Square Pyramidal

Choose the gorrect answer from the options given

helow: T
(1) A-lL BaLY, C-11, D1
{2y A-lL B-1V. C-1, D-11
(3) A-IL Befil, C-1V, D
{4y A-L B C-1, D-ni
)]
S8 (Given below fire two statements:
Statement 12 The boiling point of three isomeric
pentanes follbiws the order

f=pentane =isbpentins = neopentans

Statement 11 3 When branching increnses, the
molecule attains a shape of sphere. This results
in smaller surfoce area for contact. due towhich
the intermoledular forces between ihe spherical
molecules afdweak. thereby lowering the boiling

point.

In the light ofithe
oSt appromEane

helow:

above statements, choose the
answer from the pprions given

Ul
{1) Baoth Eliiuticmtnt I und Statement 11 are

icormech.

(2} Stutement | is correct but Statement 11 is

ingorrect.

(3} Statmuef}tl is incorrect but Statement 11 is

cormesk,

i4) Bath Sg#sm:tu [ and Statement 1 are cormect.

)
£9  In which ofthe following processes entropy
increases? L)
A. A liguid evaporates o vapour.
B. Temperature of a crystalline solid lowered
from 130 K to 0 K.
D. Clyy 3Lk

Chnnﬂnmengﬁwdmswuﬁmﬂwnptimsgim
below:

i AB : (2) A CandD

(3) Cand 4) AandC
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Wild trented wi th

' godium hydroxide :
o0 | gram of sodium by o ass ol sodium

25 ml.of0.78 M HCTsolution, il
o Is equal 18
(1) 250mg (2) Zetomg

b (33 200 me (4) 750mg

Match List | with List 1L
List 1 List 11

{ Maleculel (Nomber and types of
bonid/s hetwesn Dwo

- 61

FH 5 . carbon atoms) B
e 1 . ethane [, ote g-bond and :

two m-bonds
M. two s=bonds
one o =bond

-l .

L
2 5

. )

cthene
carbon 1.
malecule, G5

ethyne Iv. one o-bond and

one 7-hond
Chouse the correct answer from the aptions given
below:
{1y A-IV. B-llI, C-1L, -l
(2} A-NIL B-IV, C-1L, -1
(3) A-TIL BTV, C-L, D-1l .
(4) A-L BV, CI, -1

Given below are two statements:
Statement I ; The boiling point of hydrides of
d ‘Group 16 elements follow the order
| H,0 > H,Te > HySe = H,S.
Sllt:fnnnt 11 : On the busis of molecular mass,
H,0 is expected to have lower boiling point than
- T_Jn: other members of the group but due to the
presence of extensive H-bonding in H,0, it has

I higher boiling point.
..! In the light of the above statements, choose the
L correct answer from the options given below:
(1} Both Smtement [and Statement [T are false.
o (2}  Statement 1 is true but Statement 11 is false

i (3) 'Sﬁﬁmtlh-&huhutﬁmmmtuism

(4)" Both Statement Land Statement 1 are trie

e 10

hydroxide left unrenste
A.

i

Match List | with List IL

List 1 {Complex) List 11
1S0Mering)

Y S,
iSomerisg

[CD{NI'E3}5{504 ]]Bf M. Linkage
lsmhnﬁm

(c:'[ﬂHj}ﬁ] [CrlCN}n] L. lonizmtioy

E isomerism

[Cu{ H,0), [t IV. Crotdinagioy
150merism

ligase the cormect RNSWer from the Options give

helow:

(1 AL B-111. C-1V, D11
{2y Al B-IV -1, -1
(3) AL B-IV, C-1i1, -1
(4y  A-L B, G-V, D

The highest number of helium stoms is iy
(5 4u of helinum

(2) 42 of helium

(3) 2.271098 L of helium at STP

#) 4molof helium

[dentify the eorrect reagents that would beiy
about the following transformation. ¢

D'_CH:—CH =CH; —*
D_EHI" CH:\- —LCHO

() G) B

Gy 1,0,/0H

(iii) PCC
@) () BH;

G 1,0, /On
(iif) alk. KMnO,
(iv) Hs{:ﬁ'
G @) HOMT
o
(i) cro,

[0
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is:
. \O CHy

0. f%}‘“&i}”x’ﬁ'"

Cily

CH,4
{3}
W
O T

@ me"c CH,

Armange the t'ntg;ing elements in increasing
arder of electronegntivity:
N 0O, F C, Si
Choose the correct answer from the options given
bielow: &
(1): §Si=C=0 <F
(2) O<F=<N < §i
(3) F {D:N-ri-ﬁ < 8i
4] Si'fC{NT-U{F
L

W
Which plot of In k vs JI.'" is consistent with
Arrhenius equation?

o
1 Vs T
0 E/ ay £l
-Jr-u—rr__ Jf-f
(1yq|
J;‘_\. M
@ = @ =
+ - o+
\ﬂ'
ﬁmmgﬁmup lﬁgpmmtt. which one does NOT
show —2 oxi
(1) se r Te
{3 Po W @ o

70

71

72

11
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Arringe the following elements 10 increasing
arder of frst lonization enthalpy:

Li, Be, B, €, Ny
Chocse the eormect agewver fron the options given
below: on
(1) Li<B<Be<@eN
(2) Li<Be<C<BeN
(3) Li=Be=N<=g@¢C
(4) Li<Be<B<C<N
4]
Gitven below are twhidtnlemenis:
Statement I : Anilint does not undergo Friedel-
Crafts alkylation r:#:}iun.

Statement 11 Aniliecannot be prepared through
Oanbriel synthesis. 5

In the light of the above statements, choose the
correct answer from the options given below:

{1} Both Statementand Statement 11 are false.

(2) Statement 1 is‘torrect but Statement 11 is
false,

(31 Stmtement | js ﬂ}mt hut Statement 1 is

roe. L0
(4) Both Stmiementifiand Statement 1] are true,

Given below mre two stolements
=N . ey
Statement 1 : Both @{NI EJLJ el l_CuFﬁT

complexes are edral but differ in their

magmetic h:hnt-iu.urr..‘
34
Statement 11 : [o@w]}ﬁ] is diamagnetic

wheress {CnFﬁ]aF is prramuagnetic.

In the light of the e statements, choose the
correct answer fro options given below:

(1) Both Statem and Stutement 1 are false.
(2) Statement | is but Statement 11 is false,

(3) Statement | is
(4) Both Statemenghand Stalement 11 are true.

I_ Contd...

but Statement 11 is troe,
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b List 11
. 76 Moch ListEwd List 11 80
=3 The i° value for the Mo /Mn?" couple is more List 1 (Conditions)

Vo or Foit ”:L.J v odue (Frﬂﬂ"]

positive thim that of Crt . Moheat exe hu;l_gn

|
to ehange of A. lanlt:;"'"‘ |
] (13 @t d? configuration Prmtmru i, Corried out g
- 23 d* 1o d¥ configuration B, lsoc constant temper,
dq23 d* 1od” config : pmue'i.s 11, Carried out gt e a1
(3410 & configuratiaon C. Isobared constant volump.
- oy (4) ¥ 1o d* configuration dEF:hf:lil:' W Carediouta
: 3 III i Am‘:nuss constant pressyrs
Wl =7 ° swer from the optiong g
ay o “ 74 Mateh List | with List 11 Choose the cormeetans PO give,
3 i %
- below:
e ol . List 1 List Il (1) ATV, B-I1L c-m, D-l

Quantum Number Information [lrﬂ‘l-'ﬁﬂﬂ (2) AL B-11, C-111L D=V . ¥

ital 1y AL
AL oy I. ghape of orbit Fi:\:] e w [Hll ool Do

B. m, . size of arbital b
c. ! . arientation of ~2  n which of the following equilibrin, K and K,
orhital are NOT equal?
L 2 Hl
D. n IV, drientotion of spin (1) Hag*lagp = (_:E o
il (2) €O+ HaOg ¥ “ 2t ™ Mgy
of electron £ :
2 BiCly < Bryg ™ Clhg
Choase the correct answer trom the options given (33 @ = A =
hel (41 Pclﬁl;gj 5= FCiS[g] 2(i
o

(1} A-IL BV, C-1, P11 4 ihoreagenis with which ghicose dos mot red
(2) A-IIL B-IV, C-11, D-1 to give the correspanding tests/products are

(31 A-Il, B-I, C-IV. D11 A Tallen's reagent
(41 A-l, B-1l1, C-11, D1V B. Schiff’s reagent

C. HCN
75 Forthe reaction 24 == B4.C, K, =4x107. Ata B ‘NaH30, .
M tionl oF i et Choose the correct options from the given beloy |
_____ given time, the composition of reaction mixture (1) ‘AusdD 2) BandE
[A]=[B]=[C]=2x107"M. (3) EandD (4) BandC
Then, which of the following is correct? "
R : A ; 9 On heating, some solid substances change fron
(1 R@m has I.i tendency to go in forward solid to vapour state without passing throug
direction. liguid state, The technique used for W
(2) Reaction has a tendency to po in backward purification of such solid substances based antie | 4
direction. above principle is known as
(3) Reaction has gone to completion in forwird (1) Sublimation

s (2)  Distillation
II dlrect:m, (3) (Thmmntngmphy
{(4) Reaction is at equilibrium, (4)  Crysullization

R4_English |
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which resction is NOT 0 redox reaction’?
(1) 2KRCIO; + 1y = 2 K10y + Cly

@) Ha+Cly=3nel

(3) BaCly ¥ NaySO, —» BaSO, +2 NaCl
() Ent CuSOy —» ZnS0, +Cy

The Henry™s law canstant (K values af three
gases (A, B, ©) in water are |45, 2«10-3 and
35 kbar, respectively. The solubility of these gnses
in water follow the arder:

(1) B>C>A @) A>C>R
(3) A>B>C (4) B>A>C

Activation energzy of any chiemical reaction can
be caleuluted if one knows the value of

{1) probability af collision.
2} orientation of reactant molecules during
eollizion.
{3} rate constant at two different temperatures,
(4) rate constant at standand temperniure,

The encrgy of an clectron in the ground state
{n=1) for He* fon is—x 1. then that foran electron
inn =2 state for Be*" jon in Jis:

() —: (2) —4x
(3) —:x (4) -x

The compound that will undergo Sy reaction

with the fustest mate is
HBr
@) ©/

m
@ (e

H.'l-
(3} Br

A compound with a molecular formuls 6T CoF 4
has fwi t:rtiary carbons. Its TUPAC name 15

(1) 2-methyipentans

(2) 2 3-dimethylbutane

(3) 2.2-dimethylbutane

(4) n-hexune

13

i
A . 1
T '|l.'| II | :!
i I TR i
B Hiily T4l !
¥ b li
il
B fin |
it | o -
i f M1 LA ik
| TR I el

Giiven below are cortain eitions. Using inorganic
gqualitntive analysis, arrmnge them in incrensing
group number from 0 1o Y,

A AR B Gu®
C. B D, Gt
E. Mg

Choose the correet answer from the options given
el

(1) B,C.ADE
(2) B,CD,BA
(WM EAB GD
{4) B.A,DCE

e products A and B obtained in the following
reactions, respectively, ans

JROH + PClI; = 3RCI+A

ROH + PCl; = RC + HCl+ B

(1) POCI; and HyPO),

(2) H;PO, und POCl

(3) HPOg and POC,

(4) POCI and HyPO;

During the preparation of Mohr’s salt solution
(Ferrous ammonium sulphateh, which of the
following acid is added to prevent hydralysis of
Fe** jon?

(1) concentrated sulphuric acid
(2) dilute nitric acid

(3) dilute sulphuric acid

41 dilute hydrochloric acid

The plotof osmatic pressure { 1) vs concentration
(mol L1 for u solution gives 4 straight line with
slope 25.73 Lbar mol ™. The mmpersture atwhich
the asmotic pressure measurement is done is:

(Use R =0.083 L bar mol ' K1)
{13 310°C (), 25733°0
(3) 12.05°C (&) 37e0

| Contd..,
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The work done during teversible fsothermal

expansion of ohe mole of hydrogen gas at 25°C

fromm pressure of 20 atmosphete 1o 10 mmosphere
0

is:

(Given B = 2.0 cal K & oty

(1) —413.14 calonigs

2) 413,14 calories.

(3} | (M calories L

(4) Dcalorie D

The pair of lanthanoid fons which are diamngnetic
is 0
(11 Cetand Bt A0
(2) Gd* and Ev™'Th
(3) Pm and SmtH
{4) Ce*tand YEH~
Iy
ldentify the correctdiiswer.
(1) BF; has non-eero dipole moment.
{2) Dipole moment of NFy is greater than that
of MHy,
(31 Three wuumu%l‘omw e e drawn for
co; i @)
Three resonancef&muctures can be drawn for
xane. =

Masz in grams of ulk-[‘?per deposited by passing
96487 A current through a volimeter contuining
copper sulphate solution for 100 seconds is:
{Given : Molar mass of Cu : 63 g mol-!,

IF = 96487 C)
(1) 0315g
(3) 0.0315g

{4}

} Alig

a".[:n 115g

Identify the majurr'gmduﬂ C formed in the

following reaction nee

CH; - CH, ~CH, —1—0EN

OH™ §q NaOH
" Partial hydrolysis 0

(1) butylamine 0
(2)  butanamide
3) o~

(4) propylamine \0

» €
major)

e
acid

u.r,!.n. kil ||’.'.-

05

27

Considerthe following reaction in a soaled vessel
at equilibrium with concentrations of

Ny =3.0 % |0-AK1, 0, = 4.2 % 107 Mand
0=24 Hr-"'ﬁtl.
N < 10738

—’”"tﬁ"”m

1£0.1 mol L~'o me is tker in o closed vessel,
what will be d:#—gc of dissociation () of NO,

JN{.I

nt equilibriom?
(1} D.088
Al

(2) 0.8889

s T 000889
(&3]
Majoi productsphand B furmed in the following

reaclion SCOUEngsy arc

(3)

on ‘P
Hyt, . 2
f B'l'1 ale .hU‘J I "
0 {mu.jur} | major )
a0
H:C (3] H;C
(1) A= L=
E‘-.
O CoH
Hy Ar HyC
(2) A= ; B=
¥ 8]
H4( Br H;C
3) A= s B=
A
Hy e H;C
e e

The rate of a reaction quadruples whes

(2) 3.80 kl/m
(3) 3804 k)
(4) 38,04 kl/mig)

tomperature chunges from 27°C o 57°C,
Calculate thee of netivation.
Given R = 8314 K- mol-!, lag 4 = 0,600
(1) 380K/

gk,
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Given below are two statements -
= T ;
Statement | : lLu{Ni '_1},._] i5 a homoleptic

complex whereas |:-::rcr1'_r»u~1.|]IJl".I,T'r is a

heteraleptic comples.
1
Statement 11 : Complex [l:'u{NH1 L] : hias anly

one kind of ligands but [ Co(NH,), e | s
mare than one kind of ligands.

In the light of the above statements, choose the
correct answer from the optiens given below:

{1) Both Seatement | and Statement 11 are fulse,
(2) Swmtement is true but Statement 11 is fulse,
(31 Statement 1 is false but Statement 11 i true.
(4) Both Statement | and Statement 11 sre true,

For the given reaction:

O_i;_ CH KMaOJ/H® @

D (major
pris

product )
(1 { )—coon
OH OH

) {}L!ZH—!lCH-—D

00
(3) Q—l':-:%
4 ()—cHo
A compound X contains 32% of A, 20% of B and

remaining percentage of C. Then, the empirical
formula of X is:

(Given atomic musses of A=64; B =40:C=32u)
'[l:_] ﬁ.EC-_., (2) AB.C,
(2} 53‘?4 (4] 4.’-'!'13.(.-_13

gt

q -.,'_II:'
1 W

e

i

1z

{ LIE]

104

ﬂulun_; !";l:"tjl:illll—..". {I,’E_. No. 101 to 135) __-|

Hird 1] alwasys euts DNA molecules ot a particulaf
point called recognition sequence and it consisis

oft
6 bp

{1)
(3} 10bp

(2} 4bp
(4) Bbp

Given below are two statements:

Statement | : Parenchvma is living but
collenchyma is dond tissue.

Statement 11 : Gymnosperms lack xylem vessels
hut presence of xylem vessels is the characteristio
of angiospentis.

In the light of the shove statements, choose the
correct answer from the options given below:
(1) Both Statement | and Statement 11 are false
(2) Statement [ is true but Statement 11 is false
{3) Statement [ 1% false but Statement 11 is true
(4) Both Statement | and Statement [ are true

Given below are two stafements:

Statement | : Bt toxing are insecl group specifie
and coded by n gene cry LTAc. b
Statement 1T : Bt toxin exists as moactive
protoxin in B thuringionsis. However, after
ingestion by the insect the inactive protoxin gets
converted into active form due o acidie pH of
the insect gut.

In the light of the above statements, choose the
eoireet answer from e options given below:
(1) Both Statement | and Statement |1 nre false
(2} Statement I is true but Statement 11 is false
(3) Statement [ is false but Statement 11 is true
(4] Both Statement | and Statement 11 are troe

Which one of the following can be explained on

the busis of Mendel’s Law of Dominance?

A, Out of one pair of fctors one is dominomt
and the other is recessive.

B. Alleles do not show any expression nnd both
the characters appear as such in Fy
geteration.

€. Factors occur in pairs in normal diploid
plinis,

D.  The diserete unit controlling a particular
character is called factor

E. The expression of only one of the parental
charseters is found in o menchybrid cross,

Choose the correct answer from the options given

below:

(1) A, C Dand E only

23 B,Cand D only

(3) A.B,C,Dand E

4) A.Band C only
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A,
B. Cenriole

C.  Leucoplasts
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In the given figure, which component has thin
outer walls and highly thickened inner walls?

List of endangered species was released by-
(1) WW¥E (2} FoOAM
(3) [IUCN {(DDGEAC
L
The lactose present in the growth medium of
bacterin is transported to the cell by the action of;

il '.;I::Ir.:‘l::-k',rl'.::'.':. I .

{1} Acetylase e
(Z) Permease. L
(3) Polymerase )

(4) Bete-galactosidase "

Which cne of the following is nof a criterion for
classification of fungi? |

(1) Muode of nutrition

(2) Mode of spore formation

(3 Fruiting body <,

{(4) Morphology of my %Eﬁum

Inhibition of Succinic dehrogenase enzyie by
malonate is a classical example of

(1} Feedback inhibition

(2)  Competitive inhibition

(3)  Enzyme activation

(4) Cofactor inhibition \O

Match List L with List ;1 ="
List1
Mucleolus

List 1T

Sile of formation
mnf‘glymﬁpid

IS Organization like

the cartwheel

Site for active

ribosomal RNA
D synthesls

Vbl For storing
Chnutricnts

Choose the correct answepfrom the oplions Ziven

below; P

(1) AL B-10L, €4, D-1NY,

(2} A-lL B-IV, C-I1,

(3} - A-L B-Il, C-HI D1V

(4) A-lIL B-11, C-1¥, x|

1. =

1.

113

114

Thizke are regarded as major causes of biodiversity

foss:

A, Over exploilntion

B. Co-sxtinction

€. Mutation

[3.  Habitat loss and fragmentation

E. Migmtion O
Choose the correct option; Lo
{1y A, B,Cand Bonly T
(2] A Buand E only T
(3) A, Baond D only [~
) A CandD only” u

el o

Citven below are two statements:
Statement I : Chromosomes become gradually
visible under light microscope during inq?;cnc
stage, ) 0 .
Statement 11 : The begining of diplotene e ix
recognized by dissolution of synnptczﬁ%gmul
complex.,

In the light of the above statements, chu&s_e the
carrect pnswer from the options given belbw:
(1} Both Statement | and Statement 11 arelfalse
(2] StatementT is true b Statement Il is false
{3) Siatement ! is false bul Stntement 11 is true

{41 Both Statemient | and Statement 11 51?'.1.1111_-,

Formation of interfascicular cambivm frond fully
developed parenchyma cells is an exampl&for

{1} Redifferentiation o
(2) Dedifferentiation [
(3) Maturation Iy
(4) Dhffercatiation L

Tropical regions show greatest level of species

richness because

A, Tropical |atitudes have remained relgtively
undisturbed for millions of vears. bence
more time wos available for sp-:i;.'uir:s
diversification, -
Tropical environments are more seas ‘rial
More solar energy is available in tropics,

Constant environments promote niche
specialization, \D

B Tropical environments are constunt and

predictable,

Choose the correct answer from the options given
below: Ta

(1) Aand B only
20 A, B and E only 8 {
EJ)' ABand D only o

{4 A,C.D and E only f

20w
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ghromcsomies during

e Y

s Spindle fibers annech 1o kineochores of

{1} Metphase {2} Anaphass
(1) Telophase {#)  Prophase
(16 Maotel List | with List 11 0
List I List 1l
Ao Two or more I Bl eross
abterative o
foariniz of o gene r;‘
B. CrossofF, L Plaidy
progeny with
homoaygous \D
TECESSIVE parent T
. Cross af F; 1L, Allpl,-_h;l
progeny with ™
any of the parents
. Number of V., Tesgaross
chromosome it
s2ls in plant
Choose the correct snswer from the options given
Lzl Lo
(1) AL, B-L C-l1L, DIV D
(2}, AT, B-IV, C-1, D-1 -k
@) AV, B-ALL, 1, DA o
(4)  A-L B-ll, C-HII, DIV E;

‘.\ﬂ :
Lecithin, n #mall molecular weight organic
compound found in living tissises, s an example

of:
n
(2)
3)
{4)

Phasphalipids
Glveerides
Carbohydriates

Aming scids

w
Ao
h
o
F'-u.

iy
The equation of Verhulst-Pearl logistiggrowth is

%:r’ﬂ["ﬁ_ﬁ]‘

From this squation, & indicates:

(n
()
@)

K

Biotic potential
Carrying capacity
Papulation density

R4_English |

D
W
h
)

(4) Intrinsic rate of nanural increases

L)
W

120

121

Wl bl i (oo 2
Y Match List 1 with List 1
List List 11
A Clasividinms L Ethunl

Bitlicinm

B, Soceharomyvess 1. I51:|1.1|J!I:"'|'.-iI1It'=l-"
cergvisiche ,I:-:

€. Trichodernia i1l, Butyric acid
podisporm L

= .
. Streprococess 5. v, E_'.g!l'uh.'-\;u'.ll'lu-r‘k
Choose the correct answer From Uid opuons yiven

sl

(1) AL B-1Y, €111, D1 e
2 A, B-L C-1Y D10 V)
(31 AV, B-1CHILL D) o

ol

(4) AT, Bk -0 BV

==

|1} ]
The capacity to generate & whnEn{pLu.nl froim any
cell af the plant is culled: v

(1} Micropropagation

(2} | Differentiation i

(3}  Spmaiic hvbridizaticn '..-Ll

{4y Totipoleney oh

M

!

[desitify the get of correct statemgm(s:

A, The Nowers of Falliswerio afe colourfol and
produce neciar,

B. The flowers of witerlily re not pollinated
by waler. o

C. 1o most of water-pollinajed species, the
pallen grains are protecied fom wetting,

D. Pollengraing of some hydndpivies are long
and ribbon like. r~

E  Insome hydrophytes, the pollen grains are
curried passively inside walker.

Choose the conrect nnswer from the options given
bl

(1) A, B Cand B only Te]
(7} A.C,DandEonly o
(31 B.C.Dand Eonly th
i4) €, Dand E only -
Yy
W | Contd...




122

122

124

125
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iccules of ATP and NADPH are

Flow many me
fixed in the

required for every melecule of €0
Calvin eyele?

i1) 2 molecules of ATP and 2 molecules of
MWADPH

(2) 3 molecules of ATF and 3 molecules of
MWADPH

(1) 3 molecules of ATP and 2 molecules of
NADPH

(4} 2 molecules of ATF and 3 molecules of
MALDPH

The colictor of the enzyme carboxypeptidise is:

(1} Minsein 2y Flavin

(3 Haem (4} Finc

The type of conservation in which the threatened
species are tuken out from their natural habital
and placed in special setting where they can be
protected and given special eare is called;

{1} Biodiversity conservation
(2} Semi-conservative methad
(3) Sustainable development

(4] im-aitir conservation

A tmnscription unit in DNA is defined primarily
by the three regions in DNA and these are with
respect to upstream and down stream end;

{13 Structural gene, Transposons, Operator gene
(2) Inducer, Repressor, Structural gene

(3} Promotor, Structural geae, Terminator

(4) Repressor, Operator gene, Structural gene

126

127

-

what is the fate of a piece of DNA carrying only
e of interest which is transferred mio an alien

organism?

A- ThepieceolDNA would be able 1o maltiply

itself independently in the progeny cells af

the organism.

It may get integrated into the 22

recipient.

ome of tha
It may multiply and be inherited along with
the host DNA.

The alien piece of
part of chromaosaeme.

It shows ability o replicate
from the DP'l'i-l-"‘ﬂ-"' Riven

o. DNA is not 2 integral

E.
Chiaase he correct answer
helow:

(1), Dand Eonly

(2) Band C only

{3 A and Eonly

(4) Aand Bonly

|dentify

germinates,

2) C
4y A

(y B8
h D

Which of the following is an exampls o

(1) Camin (2) Pisum
(3} Sesbaria (4)  Datura

the part of the seed from the given figure
which is destined to form roat when the seed




12

iy 5

cfi

My
of

fie
th

al

9 | Auxin s used by pardeners (o prepare wised-free

Iwns. Bt no 11nm::1.;|.- is cansed 1o FUECUR LS inuixin
(1) proimoles abscizsio } sven anlv.
“\ﬁ on ol matuee leaves only

(23 does ns nﬁicét:nnlum monocoty ledonous
lants.
! o

(33 can help in dell division in grasses, to
o e grow -

(41 promotes apleal dominance.

\O

: WO
130 Mowch List [ with Litst 1l

131

A, Rlizopas

m

C
B, Agaricus

R4_English |

o
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Ustilage 1,

List ] List 11

Mushroom
Smut-fungus

Puceinba i M. Bread mould

b LA
h
Choose the correct giswer from the options given
helow: =

Rust Tungus

Ty
(1 AL BAIL C-HgD-Tv
(2y A-I, B-lI, C-T, D-1V
(30 A-IVEB-LL Celly -1

{4) A-L, B-IL C-I¥, D-1

h

I~
A pink flowered Supdragon plant was erossed

with a red flowered'Snapdragon plant. What type
of phenotypels isfure expected in the progeny?

(1) Red lowered ﬁfnﬂupinkﬂuwm-d plants
(2) Only pink ﬂmﬁﬂ plants

(3) Red, Pinkns well as white flowered plants
(4) Only red nu-.-.;;d plants

132

| 133

134

135

w0 19

Identify ihe tvpe of owers hased on the position
ol calyx; carolla nid androecium with respect to
the avary from the given Heures (8) md (b)

L

(1) (=) Hypogyndis; (b) Epigynous
(2} () Perigynodds (b) Eplgynous

(3) (a) Perigynods; (b) Perigynous
) (=) Epig_\mn..?"{h;. Hypogynous

"
Which of the ﬁ:ltn:'.-:‘u[ug ure requined for the dark
resction of photosvathesis?

A, Light
B.  Chlorophyll
C. 0, 0
0. ATP O
E. NAppn

Choose the uumclt;i}lwf:r froin the options given
below: \g
(13 B, € and D only
{2) €, D and E only
(3) Dond Eonlv g
{4) A, Band C ouly
lj'l.
In-a plang, hiack sded enlor (BB/Bh) is dominant
over white seed colbr (bb), In order to find out

the genotvpe of thidBlack seed plant, with which
af the following gehibtype will yoo eross it?

{1} bh 2}, Bb
(3) BBBbh 4y BB

. Mo
Bulliform cells ard fesponsible for

(1) Protecting thEplant from salt stress,
(2) Incrensed phéfdsynthesis in monocots,

(37 Providing larg&spaces for stormge of sugars,

(4) Inward curling bf leaves in manocats.
o

| Comtd,..
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[ Botany : Section-B (Q. No. 136 0 150) |

Given below are two statements:

Statement 1 ¢ In C; plants, some O binds 10
RuBisC0, henee CO, fixation is decreased.
Seatement KL ¢ In O plants, mesophyll cells show
very little photorespiration while bunddle sheath
cells dio not show photorespiration,

In the light of the aboye statements, choose the
correcd answer from the options given below:
(1) Both Statement [ and Stalement Il are false
(2) Statement | is true hut Statement 1l is false
(31 Statement ] is false but Statement Il is trive
(1) Both Statement | and Statement I are true

Identify the correct deseription about the given
fisure;

{13 Water pollinated fiowers showing stamens
with mucilaginous eovering.

(2} Cleistogemous flowers showing autogaity.

(3) Compaet inflorescence showing complete
DUIDEAITY,

{4). Wind pollinated plant inflorescence showing
flowers with well exposed stamens.

Muteh List 1 with List [
List 1 List 11

A, Rose I.  Twisted aestivation

B: Pea 1. Perigynous flower

C. Coton L. Drupe

. Mango IV, Marginal placentation

(Choose the correct answer from the options given
below:

(1) AL, Bl CHII1, DAY

(2} A-IV, B-IIL C-IL D

(3) Al B-IIL, CV, DI

(4) AL BV, C-L D1

139

1400

141

142

The DA present in chloroplast is:

{1y Circulsr, double stranded

Linear, single stranded
Circular, single stranded

Linear, double stranded

Which of the following statement 15 correct
regarding the process of replication in E.coli?
A dependent RNA polymerase

(13 The
pul:;merimtinn in one direction,

catalyses
that is 5 —3".

The DNA dependent DNA polymerase
rizntion in 5" =+3" as well

2}
catalyses polyme
as 37—+ 5" direction.

(31 The DNA dependent DNA polymerase

cutalyses polymerization in 5" - 3" direction.

The DMNA dependent DNA polymerase

catalyses polymerization in one direction

that is 3" —5%

(4}

Which of the following are fused in somatic
hybridization involving two varieties of plants?

(1} Somatic embryos
(2) Protoplasts

{3} Pollens

(4) Callus

I#nﬁﬂr th: step in tricarboxylic acid eycle, whih
does not involve oxidation of substrate,

(1) Suceinie acid — Malic acid

2) Succinyl-CoA -» Succinic neid
(3) lsocitrate —» o -ketoglutaric acid
(4) Malic acid — Oxaloacetic acid




1" "
- 4
i .'r :
T St Vo AN e
143 Match List Twith List 11
List | List 11
AL GLLT L Hormaie
B, lInsulin I Enzyme
C. Trvpsin I Intercellular
ground substance
[, Collagen IV, Enables glucose
transport mio cells
Choose the correct answer from the options given
below;
(1} AL B CAiml, DIV
(21 A-IL B-N1, C-TV, D1
(31 AL BV, C-L D1
{4y A-IV. B-L. C-10, B
144 Spraying sugarcane crop with which of the
faltowing plant growth regilators, increuses the
length of stem, thus, inereasing the vield?
{13 Gibberellin
(23 Cytokinin
(3) Abscisic acid
(4} Auxin
145  March List I with Lisy 11
List 1 List 11
A, Frederick L. Genetic code
Giriftith
B. Francois Jacob 1. Semi-conservative
& Jncque mide of DNA
Monod replication
C. Har Gobind I Transformation
Ehorana
0. Meselson & 1V, Lac operon
Stahil

jii._Eug_;hh |

Choose the correct answer from the options given

below:

(1) A-ll, B-1v, C-1, D-11
(2] A-IL B, C-1V, D-1
(3} A-IV, B-L, C-1, D-111
{4} A-I, B-11, C-L D-IV

146 March Lish | with List 11

147

List 1 List 11
A, Robert May I. Species-Arca
relationship
B, Alexander von . Longterm
Humboldt coosystem
experiment using
sont door plots
C, Paul Bhrlich 1. Globnl species
diversity at about
T million
D. David Tilman IV. Rivet papper
hpotliesis

Choose the correct answer from the options given
below:

1y AL B-L GV DA

(2} A-l Bl C-1L D-1Y

(3) A-ITL BV, C-IL, D-1

(4} A-IL B-I, C-L DTV

Read the following stotements und choose the set

of correel stalements:

I the members of Phacophycene,

A Asexunl reproduction ocours usunlly by
biflagellnte doospores,

B.  Sexual reproduction is by oogamous method
only.

€. Stored food is in the form of carbohydrates
which is either mannitol or laminario

L. The major pigments found are chlorophyll
m, ¢ and carotenoids and xenthophyll.

E. Wegeintive cells have o cellulosic wall,

usunlly covered on the cutside by pelatinous
coating of algin,

Choose the correct answer from the options given

below;

(1) B, G, Dand E only

(2) A,C, DandE only

(3) A, B.CandEanly

4) A, B, Cand [3only
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Matcly Ldst | with List 1

List Lsi 11
A, Citre noid 1. Cytoplasm
avele o . :
B (:ply-:--l\slf. (01 I Mitechondrial
. - it mnkrix
C,  Blecton (N 1L Intermembrans
T - n s
tran I space of
-sysr;fnm g pritochondria
13, Proton 3 1Y Inner .
grocdient mitochondrial
membrane

Choose the "““"’"'w.‘g“‘“"' froan the aptions given

balow:
L D

(1) A-HL B-1, C-F
2} A, B LD
(3} AV, Bl C-0, D
(), AL B-IL E—IL a8 0

In an ecosystem if the Net Primary Productivity
(NPF}of first trophic level is

LS
100 (el m Eur:i‘., what would be the GPP
{Giross Primary Frypg Imﬂvit}'} of the third
trophie level of the sitie ecosystem?

(1 = {kcal il:_z'lj-Fl
A0
(2) 10 (loat m ey

(3% E‘lh‘lﬂm jn-'

ke
=, =I4dd =1
5 keal m ;:ﬁ

Mutch Lise | with List 1T
List 1 {.,. List 11

(4

(Types of Stamens)) () (Example)

‘A Monondelphous) L Citrus
B. Diadelphous . Pea

C. Palyndelphous L Lily

D, Epiphyllous IV, Chifuios
E‘hmmmct%uwhm“ﬂ otk civen

: below: Optione i

(1) APV B-L, -1, Do

(2} A-L B, i

@) AL B, CHY, Bt

(4) AV B C il

__——geaion-A Q. Mo 151 4y ’LT
— Last 0l
ME hLL-:I“Hh Lt
pist 1 Jalnts L. Adjscen
A [Fibos 1 veriebeie, e
T MOVEME
&N . Huimer gy
Cartlingin®™ g3y Pectoral girg;,
_1.pl11l!- i Tetntionn|
ul ! MOVEIeng
L Skult, donny
gy Hings allow any
A% W Mmovemens
p. Ball i W ™ :‘U"“‘r help iy
'Fpm fwid OCOTIc 0

TR

AL Down's syndrofris

{"l {he mﬂﬂﬁ“gmﬁm‘m‘q’ﬁﬂnn‘h

Choose the carestinswer from the options g,

belaw &

pelow

(1] A, B, G 1}:3
) AL B, Gl D -

(@ Al BLC v II:;_I

4 AV g-11, C-01,

152 Mach List | witti List 12

List 1 List 11
commoncald & 1 Plamodip,
Haesmozain I, Typhoid
Widslwest (= ML Rhinovinse
Allerzy Ty IV. Dust mites

(1) AL BAIL C-LL, DTV

@) A-N, B CAIL
(31, ALV, B-1L
(%)

List T -

B. u-Thalassemin\L)
C. P-Thalassermia
N Klinefelter's

syndrome

A
Ehﬂﬂﬁﬁﬁwwnwwm““ummgm

belaw

(1) AL B- llj,
(2) A-IIL, B-1V,
@) AIV.B,
(#) AL BIL C

Al BV, &5,
h

-1V

GARL, -1

-l

153 Mateh List | with List 11 -

List 11

L L™ chromose
I, *“X" chrosnosane

21% chronmeson
V. 16™ chromosom:

1.

w2l
cel, DN
-1
Dy




(&4 Chiven below nne two siatenients s ane i labelled | 157 Mateh Lisg |tk Ligedl : ' iy
an Aswertion A and the ather s labelled oy List 1 List 11 : > 4
i Reason K 1 {Sub Mhases of :_Slﬁ:ciﬁlf b . N
Assertion A 1 P51 scts upon ovarian follizles in Prophase 1) chiracters) - i | A
female and Levidip cells inmale. & Dithkiinesis [ Symaptoncmal L e
Reason R ¢ Growing ovarian follicles seérete complex formation 2 y
estrogen {n female while interstitial cells secrete B Pachyvizns il Completion of
androgen in male human being, : 3 terminatisition of
In thee light of the above siatements, choose the c it
cormecl answer from the options given below = I
€. Fvpgotene i, - Chromdsames
(1) Both A and B oare true but B is NOT the 1ok like thin
oy covrect explanation af A. (hicanile
T y
(2 A istrue but R i false D, Leptotens M B Abgstmce ol
{_"” A s false but R 1% trie |-¢|-_-|_t|:||h|:|ntiu1l
(4] Both A and B are true aod B s the correst nowdnles
explanution oTA. Choose the correet answer from the options given
below :
| USS The~Tiplasmid™ of Agrebacierium fumefactans LR E"Illl' AN
| stands for (2) AL BV, €, D
(1) Tusor |ill:|l!';Pl.=Hrllﬂ1ll plasmid (3 AN BAIH, G- B
' (2) “Tumor inducing plasmid VL2 D e LA
e {3} Temperature independent plasmid 158  ‘Match List [ with List 1l
(43 Twmour inhibiting plasmid List 1 List 11
AL Non-medicated 1L I Mlulfiload 375
156  Given below ane two stotements : i leoppryrEietio H]a Ll v
C. Horm leasing 1L 000, L !
Statement I : In the nepliron, the descending limb D 1 ImD: Lipit v L::):_::ﬂmp
of loop of Henle is impermeable to water and i A e )
permesthle 1o electrolytes, E:'Imth“ correct answer from the options given
W L
= Sttement 11 : The proximal convoluted tubube 4 :
. i# lined by simple columnar brush border S e C e
. epithelium and increases the surface area for (2} AV, B, C-1, DL
: Tesbsorption. (31 A-NL B G-IV -
In the light of the above siatements, choose the M A LR CL DY,
e - correct angwer from the options given befow : |
158 Which of the following is not n steroid hormone?
(1) Both Statement | and Sintervent I see false (1) Tesmbsternie
(2} Stetement |is truc: but Statement [ 15 false (2) Progesterone
(3) Statement | is false but Statement 11 is true (3) Glucagon
(4) Both Satement | and Statement 1l are true (43 Cortisol
R4 _English | 23 | Contd..,




1ol

1§48

162

Dogy

are some stges ol luman gvolution.

Given helow
corret sequence, (Past 1o

Arrange them in
Recent)

A, Homa feabilis

B. Hum:rmpip;g

¢, Hombo neanobmialensis
B Homo mm!ifj

Choose the cormest yequenes of liiman ev
from the options iden belaw:

{1y BA-DLO (2] CB-D-A
31 ADCH $ (4] D-AC-B
o

Match List | withList 11 :

e 1
List 1 iy Mat
Lipnse Peptide bomil
Wik lense Fster bond
Glycosidic bond
Phosphodiester bond

olution

below : ()]
(1) A-m, 511, &L DV
(2) AT BALY, D
(3) ATV, Bl C-10L DL
(4 AV, B-1l, C-1IL D
]
Given below are staterments

Stutement 1+ Thepresence orabsence of hymen
is nat a reliable igdicator of virginity.

Sumt]T:TIi%ymcnisturn during the first

coimus only.

In the light of the sbove statements, choose the
corpect answet from the options given below :

4] Bplhswm%TmciSmmunnmﬁlu
(2) Statement I Srue but Statement 11 is false
(3)  Statement 1 {5 false but Statement 11 s true

163 Much List ] with List 112

List 1 List 11
A, -l nntirypsin 1. Cotton ballye,
B, CrylAb o 1.  ADAdeficion.
. CrvlAe h 1. Emphysem;
0. Enzyme & v, Comn borer
r:p].-u.ncm:n: )
thermpy o
Choose the comeat ﬁi.?w from the options g,
below 3
(1) L Bel, G DIV
(2) AL BV, O, DAL

164

4 Bﬂhﬁlﬁmfnll and Stutement 11 are true

(3) Al B-IV, C-Lp-il
(4) AL p-1, C-IVErIl

Three Types of

1dentify the correet i |:|:hin|;g_1:u1irn.]n.-ng.,.Uiumn;r

jogation in humal §

(2)
)

(4

165 Match List 1 with 1"-% il :

are Given as e, b

dy =

-

(L]

£{c} :
MNane of muscle/lngation
(1 (=) Lkeletal LTriceps

[a}

smaath -Somack
Cordine -Eleart.
Skeletnl ~Biceps
Tnvolumtary - Intestine
Smouth - Heart.
Involuntary - Mose tip
Skeletal LBone
Cardinc -Udeart,
Smiooth - Fges
Skeletal -mBs
Cardiuc -fHeart,

(b}
()
[F]
()
(<)
(a)
(b
(e}
(1)
b}
()

List Ll
Fungus
MNematnde
Protozoa
Bacteria
r from the optionsgee

List T

Typhoid L
Lelshmaninsis

o
Aunil
(b0

e
{2: Ar'm.Eu]_‘ =
3y AL B-IV, C-
(4 A-L B-1IN, G-I
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166 Match List | with List 11 :
List List 11
A Axoneme 1. Centriole
B. Cartwheel MO Cilie and fagelin
panem o
C. Crista I I]l Chromosonie
B, Sateilite NIV, Mitochondria
Choose this correct .11:5“ er from the options given
bl -
i} (1) J\|VB|1FIIA.I}-I

(2} A-IL BV, C-F, DM
(3] AL B-L C-v, D
(4 AV, B ColL D

167 In both sexes of coekroach, a puir of jointed
filmentous structurekienlled anal cerei are present
: o = N
r (1) 10™ segment [~
(29 &™ and otk w!m}em
(3) 11" segment o
(4) st sement

168  Match List | with Fig 01

List 1 w0 List 11
A, Pleurobrachin 1. Mollusca
B. Raduln :513 1.  Ctenophora
. Stomochond ) L Osteichthyves
D,

Air bladder i IV, Hemichordain
Choose the carrectanswer from the options given
balow ;

(1) A-fl, B-l, -IW/D-111

(2) A-l, BV, G baan

(31 A-IV, B-11L, CHlLL -1

(4) AN BALCHL D

169 Following are IQ stuges of pathway for
conduction of an action potential through the
heart:

A, AV bundle

B. Purkinje fibregs
C. AVnode LD
D, Bundle brangfigs

- E. SAnode @m

Chaose the eorrecpsequence of pathway from the

options given bel

(1) A-E-L-B-D (o (2) B-DEC-A

{3) E-A-D-B-C  (4) E-C-A-D-B

R4_English |
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170 The Mippers of the Penguins snd Dolphing are
the example of (he ‘a
(1) Matural selestion '

(2} Convergent mclllﬁsl
(3 Divergent evolut

(49 Adaptive mdimn’lif '

171 Which one is the uil-r_“;:':cl: product of DA
dependent RNA polymerase to the given
lemplute?

1" TAC Eﬂ‘(J[JL}MI‘I%L CATTCAS"
(1) S*AUGUAAAGLLILL IAGGLAAGLZ"
(2) 5"AUGUACCGLI EaUTAGGLAAGLIE
{3 SATGTACCGTTINEAGGTAAGTE!
(41 S"TAUGUACCGULIAUAGGUAAGLZ!
i
0

172 Given below are two statements | one is labelled
ns Asserlion A and the other is [abelled ns
Renson R L
Asserifon A : Breast-foeding during initial period
of infant growth is recommended by doctors for
bringing a healthy baby.'

Reason R 2 Colostrim ing several antibodies
ahsalutely essential tndevelop resistance for the
new borm baby,

In the light of the above statements, choose the
most npproprinte annirﬁ‘ from the options given
below :

{17 Both Aand R a.'rtﬂtu'r:ct but R is NOT the
correat uraph.nat‘?n of AL
(2) A iseorrect but ROk not correct.
{3) A is mot cotrect but R i cérrect.
(%) BothA and R are comect and R is the correct
explanation of A,
b

173 Which ol the followini factors are favoirable for
the formation of cxvhiiemoglobin in alveoli?

(1) High pO, and LEsser H' concentration
(2) Low pCo; and H concentration
(4] High pO, and High pco,
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174 Fonsider the fionl [y Sty *
‘A, - Annclids are [Nk e loanates
B, Porifersnis are pretdocoslomated

R4 _English |

wh

AR

. Aschelmintles are peoelomates

0. Platyhelminthes are p:scudm-elm_mi:!_w“
Cheose the cofrect answer from thie oprticns i
below

{1y Aogaly
(3} Donly {4y

(2} Comly
B oaily

175 Following are the stages of cell division ;

A Ciap 2 phase

B. Cytokinesis

C.  Synihesis phase
1. Karyokinesis
E. Cap | phoss
Choose fhetnrl!ccl sequence of stages from the
options given below :

(1} EBDAL (2
(3) E-C-A-D-B 4}

B-D-E-AC
C-E-[3A-B

i76  Which of the following staterionts is incurrect?

{17 Most commuonly used bio-reactars are of
stirring ype.

{2) Bio-renctors ane used to produce small senle |

hacterinl cultures.

{3} Bic-reactors have an agitator system,
s oxyeen delivery system und fonm control
sysient

(4} A big-reactor provides optimal growth
conditions for sehieving the desired product.

177 Match List Dwith List 11 :

List 1
A, Pons I

List 11

Provides additionil
space for Neurons,
regulates postiure
il balmpce,
Conptroks
respiration s
pralric seoretions.
Connects different
regions of the
birin,

MNaurn seeretony
cells

Choose the comect answer from the options given
belaw :

(13 A-HL B-1Y, CA1, D-1

(2} A-L B C-I1, D=1V

(3} AL BT G-I, D-TY

() AL BN, C-1, DAy

B. Hypothalamus. 1T,

€. Meduila g .

D,  Cerebellum v

yaults
5
Coitus interruptt

i ‘:hml;iwgmbageqmlihrium?
the
(1) Genetic drift
(2) Gene pigration
{3) Constant gene pool
) Genetic pecombination
180 Maich List [ with List i
List 1 List 11
A. Prerophylium I Hag fish
B .I'rﬁxlfl"lf 1.  Saw fish
. Pristis 1L Angel fish
D IV, Flying fish

151

Choose the cormectanswer from the optiess .

below
(1) A-IL, B-L, C-1I, D-1V

2

AV B-1 CL B-11

(3) AL B-I, C-1, D=1V
(4) AL B-L C-m, DIV

Which of the following is not a compansld

Fallopian tube?

(1) Isthmus

(2} Infundibulom
2} Ampulla

(81 Uterine fundus

afthe following footors wi It"""i'h |
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182 Match Last [ with List 1]

List 1 List 11
A, Cocaine LAD Effective sedative in
L; Surgery
B. Heroin Il,: § Camnabis satbva
. Morphine I Ervifreonxdum
D, Marijiana I\:’_‘L' Papener somwifisrum

Choose the correct answer from the options given
bielow :

(1) AL B-1I, C-LA-IV
(2) (AL B c;m.‘g:w
(3) A-NIL BV, c-{l}jLH
(4)  A-IV, B-111, C—ED-I[

O The following dlngmm showing restriction sites

in Ecoli cloning vector pBR322. Find the role of
X and *¥" genes;

W
(¥}

g

(% }]

{1} The gene *X” idtespensible tor conmolling

the copy numbddof the linked DNA and ' ¥

for protein invilved in the replication of
Plasmid. '

(2} The gene ‘X" is for protein involyved in

replication of id and *¥" for resistance
o antibiotics. \
(3} Gene'X s sible for recognition sites

and *¥" is riﬂmusible for antibiotic
resistance.
{4) The gene ‘X" is
mﬂhmtm

ible for resistance to
for pmtcm imvalved in

184 Whieh of the following are Autoimmune

disorders?

A, Myasthenia grayjs

B. Rheumatoid u.rh_in:'l-iti.-c

C. Gouot :?_I

D, Muoscular dystooghy

E. Systemicl upds JE.nﬁcnsnmsus (SLE)

Choose the most u.ppr-.'lprlat: answer from the
opHons given below |

(1) A, B & E onlygs
(2) B.C&E only\D
(1) C; ﬂ'&[‘nnl.vc

]
(4) A, B &D only-
1§
185  Mutch Listlwith LIS T
List 1 List 1T
A, Expirstory 1. Expiratory reserve

capagity :': velume + Tidal
h volume +
;_l Inspiratory reserve
Wl yolume
B. Functional I, Tidal volume +
residual L Expiratory reserve
capacity o volume

>
C. Vital capacity ._J,III. Tidal volume -+

Inspiratory reserve

O volume
D Inspirtory IV, Expiratory reserve
capacity volume + Residual

W volume

Choose the correct @iswer from the options given
below : M

(1) AL B-IL, C4W, D1
(2) AL B CIVID-1I
(3) A, B-IN, C-

(4)  A-IL B-1V, C-1, D-Hi1
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186 Mateh List | with List 11

List I
A Pwave L

[k i

List 11
Heart muscles ard

electrically silent

. QRS complox I, Depolarisation of
ventricles,
C. Twive I, Depalarisation of
iiria. :
B T-F gap V. Ripolerisation of
ventricles,
Choose the enrrect answer from the options given
below ¢

(Fy AN, B-I1, G-IV, D-I
(2} ATE BT, C-1, D=1V
(31 A-IV B-I1, C-1, D111
[4) AL, B-IIL C-TV, D-I1
187 Given below mre iwo statements ;
Statement I @ The cerebral hemispheres are
connected by nerve trict known as corpus
callosum,
Statement 11 ;: The brain stem consists of the
medulla oblongatn, pons and cerchrom,
In the light of the above statements, choose the
most appropriate answer from the options given
helaw :
(1) Both Statement | and Statement |1 ore
ineorrect,
(2} Statement [ is correct but Statement 11 15
incorrect,
Statement | is incorreet but Statement 11 is
CoImeet,
Both Statement Land Statement [l are correct.

(3
{47
188 Given below ome two statemens -
Statement | : Mitochondrin and chlorop lasts are
both double mernbrane Baund argnnelles,
_Sun-mmt IL: Inner membrane of mitochondria
i5 relatively less permegble, as compared fo
chloroplast.
I.utherf,glhlufﬂm above stutements, chocse the trost
[ #pproprateanswer from this options given below :
(1) Both Statement I and Statement [1

| Bo are
icomeet.
(2) Statement | is correct but Statement 11 is
neorrel.
(3) Statoment | is incorreat but Statement I is
| cofrect,

[ (4)  BothStatement land Statement Hlarecorreet,

R4_English |

carreat optian (A ( B (0, ™y, y
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189 m:.i?tumﬂ natogenesis.
res
CmitH
1
(A)
[
i &
®) <
il - *
Androgens s
Foomats ﬂi'gpaﬂmliﬂ-‘ ()
(1) ICSH. tnterstitinl cells. Leydig cells,
' sperrﬂiﬂsl-'““'lf"
(2) Fsii, Sertoli cells, Leydig cells,
I spenﬂﬂ.lk‘lgﬂ'ﬂ'lu's‘i5-
(3) {CSH, Leydig cells, Sertoli cells,
muwg:ncsis.
(4) FSH, Leydig cells, Sertoli cells;
spnnninguuesfs

190 Given below are two stalements :

Sigtement [ 2 Bone mamow is the main bymphgy
organ where all blood cells including lvmphocy.

are produced.

Stutement [1 : Both bone marmow and thyg,
Fl'u'l.';ljtl‘.liil.‘-'m emvironments for the di“"ﬂ"»"}"ﬂ‘-r"l
and maturation of T-lymphocytes.

Inthelight ofthe nbove sttemaents, choose the g
appropriste answer from the options given below:

(1) - Bath Statement [ and Statement 1] 4

Incorrect,
(2)

Staterment T is carrect but Statement |1 s

incorrect,
(3) Statement [ is ineorrect but Statement [l 4
enrrect,

(41 Both Statement [ yng Statement 1] are comes

| Copid
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onowe

As per ABOD blond groupimg. syster, the blood
group of father is B, mother is A" and child is
0, Their respective genotype can be

A WM

= S L LA LY R

ool Lol LAY T 1

[ O CAT 0 LI

[ LR L G

Choose the most approprinte answer from ihe
aptions given below
(1} Bonly

(3 D&EE I.'J"!:,'

(2) C & Bonly
(4} Aunly

Given below are two sttements ©

Statement | : Gause’s competitive exelusion
principle states that two closely related specics
competing for different resources cannot exist
imdefinitely.

Statement 1 ; According to Gause’s principle,
during competition, the inferior will be eliminated.
This may be true if resources are lHimiting.

In the light af the above statements, choose the
comect answer from the options given below ;
(1} Both Statement | and Statement [l are false.
)
(3}
)

Statement | is true but Statement 1 s false,
Statement | is fulse but Statement 1T is true,
Both Statement Land Statement 11 are true.

Mutch List 1with List 113
List 1 List 11
. Mesozoic Era L Leowerinvertebranes
Proterozoic Era 1L Fish & Amphibia
Cenozoic Era. 1. Birds & Reptiles
. Paleozoic Era IV, Mammals
Choose the correct answer from the options given
below :
(1) A-lll, B-1, C-Il, DIV
(20 A-L B-lI, C-IV, D111
(3} A-IL, B-L C-IV. D-II
(4) A-IL B, C-I1, DV

l'l--
AT
k; it
..'r.i;-;"'.- e s ‘oI
L 'f'?:'f.v: o h
194 Match List §with List 10
List I List 11
A, RNA polymarase (1 . snRNPs
B. Terminnation of
transgription 1. Promitor
. Splicing of Exons 111, Rho factor
0. 'TATA box IV, SnHEMAs (RMNA
Choose the correct answer from the options given
below
(1) AL, B-11. C4V, D1
(2) A, B-TV, C-1, -l
(3 AV, B, C-L DA
(4) A-IL-B-Iv. C-L D1
198 Regnrding camlytic evele of an enzyme aetion,
select the correct sequential steps
A, Substrste enzyme complex formation.
B. Free eneyme ready to bind with another
substrnte,
C. Release of products.
0, Chemical bonds of the substrate broken,
E, Substrare binding toactive site,
Choose the correct answer from the options given
bt @
(1) AE B D.C
2y BAGDE
(3 E DG BA
(4y EADCH
126 Match List 1 with List 11 ¢
List 1 List 11
A, Unicellular glandular 1. Salivary glands
epithelium
B. Compound epithelinum 11, Pancreas
C. Multicellular m: Gohlet cells of
glandular epithelium alimentary canal
D, Endocrine glandular TV, Muoist surface of
epithielium busceal cnvity

Choose the correct answer from the options given
below :

(1) A-IV, B-1L C-1, D=1
(2) A-lL B-IV, C-1, B0
(3) Al B Gy, DA
(4) AW, B-L, C-1L, D-1Y
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# 197 Match List Lwith List 115

List1 0 List 11
. § F'r
A.  Exophthalmis '|;: Exoess sécretion
goiter O cortisol. mpon face &
4 [
uy  hypenglycemi
L )
B. Acromegaly II. Hypo-secration
of thyroid hormone
]
W0 and stunted growth,
e i
C, Cushing's dH. Hypersecretion
syndrome L; of thyroid hormone &
b |
M pratruding eve balls.
0. Cretimism [V, Excessivesecretion
O
o of growth hormone,

Choose the correst ung-erfm the options given
below : -
el
(1) A=IV, B-11, C-L Dell
(2) A, B-1V, C-L D
il
{3) AL B-IV, C-1 D1
o
(#] AL BIIL G-I, BV
™
Ty
Choose the :urmcﬁtntemu nt given below
regarding justa medullary nephron,

(1) Renal corpuscle of juxta medullary nephron
lieg in the ion ol the renal medul s,

i
(2} Loop of Ilenlnat.'jmétn medullary nephron
riins deep into mdulin.

(3 Juxt medullsfrnephrons cotnumber the
corticsl naphnm

(4 Joxta me&ufhry‘:e:pkmnﬁm located in the
calumns of Bertini.

30

190 pdateh List]

20HY

with List 11 related to dipectiv, Wiy

Df:uﬂkﬂmch. O
List | o Listyy |
ed| L Girsg
A, The structur:slu'-g.l lrzand |
for storing of T0of
L) Il. e
B, Ringof 68 hhn,dkﬂ ‘ Gatstrig
qubules at junction of Caecn
foregut and midgut-
¢. Ringof 100-150 @Iaw UL Malpighi,, |
coloured thin. Y tubiibes |
Filpments ﬂjmiffgj‘ of |
midggut and hindgyt. |
[, The siruetires usedd IV. Crip

fior grinding the food.
Choose the corect dEwer from the options gy,
below o
(1) A-L B, C-H@-I\l‘
(3 A-IV, B-IIL C—I’I:ID—I
(3) A, B-11, O D-1
(43 A-TV, B=11, C-I11, -]
¥
The following ar:ﬁ: statements about nos
chordates : o

A Pharynx-is perforated by gill slits.
B. MNotochord is

C. Central nervous system is dorsal.
D, Heartis dorsal if present.

E. Postanal tail iShbsent.

Choose the most ﬁ:mpr’rmc answer fron the
options given below' !

(1) AB&Donly"
@ B,D&E ol
(3) B.C&D onty?
(4) A& Conly

i
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